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9.  Three of the following are elements of a map.
_ , Which one is pot?
1.  The general direction of the flow of River Pozi is é IS(c:.le; g gompm d;recuon
A.NWto SE B.S.EtoN 10, Cushites sre believed to have migrated from:-
; C.N.EtoS.E D.NtoS.E A\ Horn of Africa B. Cameroon
2.  The direction of the church from Vazi Primary C. Homn of Asia D. Sudan
School is Wha 0 '
A. South East B. North West it A. Agricultoal products
C. South East. D. South West B Goods bought from other countries
3. 'I'hefoodcropgrowanbonrcaxs C. Goodssoldthlnnthecmmtry
é‘ 2:5? dip ]B) xcl:‘:l:)?ages - D. Goods sold to other countries
4.  The main product got from the forestis i SERicyol g Tstoiie, @0odsit knovmas
A. flour B. timber ' importing ' exporting
C. floor D, saw-mill é barter g cash
S. The‘YPe of farming practised intheareais | 33 Which of the followmg is the law material for
zero grazing B. bush cement manufacturer?
C market gardenup D.mixed A. Bauxite "
6.  The people of Mbio Area belong to ' B. Limestone
A HinduB. Islam 5. Distomie
C. Christianity D.Idon’tknow 134 Boran Somalia, Ormaand Gallla are all
7. The cash crop grown on the Nothern side of Mbio _ A. Bantus B. Semites
regionis:- C.Nilotes D. Cushites ;
A. coffee B.tea 15. A barometer is a weather instrument used 'to
C. pyrethrum D. cotton measure?
8. Whichofthe followmg countries has the greatest A. Humidity
area of desert? B. Diréction of wind
A. Sudan B. Kel}'ya_ C. Atmospheric pressure
C. Somalia D. Ethiopia D. strength ofthe wmd o
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25, - The shaded partinthemap has __._ vegetatior

- A. savanna grassland -B. mangrove forest
C.equitorial '« “** "D. forest vegetation
26. The capital city of the county marked Bis
A. Asmara © " B.Adis Ababa
C. Djibouti D. Kampala
27. The game reserve marked Wis -
‘ A. selous game reserve B. Serengeti
- C.Simieni ~ - " D. Ruwenzori
' . L. 28. Three of the following trees grows in the rai
A. Coastal rainfall - - - B. Relief rainfall - ~ forests. Which one does not?
C. Highlandrainfall ~  D. Convectional rainfall A. Mahogany B. Rose wood
17, “Which of the following is not a human right abuse? C. Teak > D.Acacia
A. Discrimination | 29. Which one of the following is not a marine fish?
8. Wrongful arrest & A.Tilapia B. Kingfish
C. Forcing children to go to school =~ C. Tuha : D. Mullet
D Mob justice : : .| 30. . The following are importances of vegetatior
18. A seabreeze occurs . iy - _ except:-
~A.atnight B. during the day . .. influence on climate

C.inthe highlands  D. far away from the sea
19.  Amongthe communities listed below, which one
was not inveélved inlong distance trade in East

B. protection of source of rivers
'C. building and construction
D. it causes soil erosion

lgﬁlcf;nb ol *'B.Nyamwezi 31. ;he first group of the Luo to enter Kenya was
C Agikuyu . D.Makua e ' \
20.  The following are main breeds of beef cattle kept A. Joka Omolo B. Joka Owiny
+if) Eastern Africa except:- C. Joka Jok D. Luo Abasuba_ :
A Aberdear Ang—_lus B. Guernsey 32. Computer network that allows communication
C. Hereford s D. Boran between computersis_______
21.  The name given to the mountain that border Kenya A. fax ' B. e-mail
- and Ugandais C. internet o D.safaricom
A, Mt.Kilimanjaro B} Mt.Kenya 33. - Peacein society is promoted when
~ C.MtElgon D.MrMeru A. people’s right are denied
22. " The growing of flowers is called - B. shared a common ancestor
“A.plamationfarming  B. market gardening . C.respect for one another . »
C. oreen house D. floriculture D. leaders talk to their people against other
23, Which of the fc — 8 Main prnci communities
. f1 d;ﬁgﬂ;ﬁ?e ollomingigmoramatiprineigle 34. Which of the following country does not neighbour
- A_Equality before the law : Kenya? .
B.-Many political parties - A. Ethiopia B. Eritrea
C. Accountability, . C.Somalia . D.Tanzania
D. Disrespect of rules of law - 35.  The following are regions of high rainfall except:-
24.  rade carried out between countries is called:- A. highlands B. lake Victoria
- A. domestic trade B. barter trade C.coast D. semi arid areas -
C. foreign trade .D. internal trade 36. The road sign shown below means:- i
Use the map below to answer guestions 25 - 27:-
A. general sign B. warning
C. aspeed limit " D. not to overtake
37. The biggestriverinKenyais
A. Ewaso Nyiro B.Athi :
‘ C. Tana D. Sondu Miriu s
\ 38. Three of the following are reasons why different
\ Kenyan communities migrated. Which one is not?
\ B. Adventure
C. Epidemics
- D.Increase of population
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39.

40.

41.

42.

Use the map of Kenya to answer questions 43 - 46:-

The two largest Islands in lake Victoria includes:-
A. Rusinga and Mombasa . :

‘B. Pate and Lamu

C. Mfanganoand Rusinga . .
D. Mfangano na Manda: .

A person who is loyal faithful, devoted and love
his country is said to be:-

A. citizen B. traitor

- C. guilty " D. patriotic ; '
L __ isthe present ruling party in Kenya.
A.ODM B. KANU
C. PNU D. JUBILEE coalation

How old must a Kenyan be before they vote?
B.18 .

A.20 \
C.21 D.25

43.

44.

45.

46.

47.

48.

49.

50.

W
The town marked H is
A. Siaya B. Kisumu
C. Webuye D. Eldoret
Which group used route C?
A. Maasai B. Abaluhyia
C. Rendile D. Yao
One of the followinf did not use route W during

their migration to their present homelands. Which

one?

A. Abakuria - B. Akamba

C.Aembu D. Pokomo

The lake marked O i s called

A. L.Victoria B. L.Baringo

C. L.Nakuru D. L.Turkana

A general election is held after * years.
A. 10 years B. 17 years

C. 5 years D. 3 years

Lake Turkana, Lake Naivasha, lake Victoria are
some of the major grounds where

is found. ‘

A. gold B.fish

C. diatomite D. soda ash
Kenya gained her independence in
A. 1952 B. 1962

C. 1964 D. 1963
The imaginary lines drawn on a map that run from
East to West are called :

A. longitudes.

B. latitudes

C. meridian

D. vertical lines

51.

52.
53.

54.

o5

58.

59

60.

- B. share work

© D. Tea
57.

Which'element of weather is measured by the

- instrument drawn below?

A. Air pressure B. Temperature

C. Speed of wind D. Rainfall :
Which of the following is a problem facing forests?
A. Agroforestry : : /

B. Illegal settlement.

C. Competition from alternative sources of energy
D. Afforestation %3

The following are reason-why the missionaries
come to Eastern Africa, which one is not?

A. To spread christianity . Yo

B. To trade with people of Eastern Africa

C. To prevent spread of Islamic reli gion

D. To stop slave trade ’

The main fishing ground in Tanzania is:-

A. lake victoria - :

B. lake Tanganyika Ly %

C. lake Rukwa /

D. lake Malawi ; '
One of the reasons of establishing Jua Kali industry
was to:- ,

A. help people to earn money

C. use available electricity -
D. create unemploment " j
Which of the following is a subsistence Crop grown
in Kenya? -

A. Bananas

B. Pyrethrum

C. Flowers

_is the main tourist attraction in Eastern
Africa? , 3 '

A. Good climate

B. Historical sites

C. People’s culture

D. Wildlife : '

The following are factors influencing vegetation
distribution in Eastern A frica. Which one is not?
A. Altitude B. Climate

C. Longitude D. Soil

Which of the following is the most recent means
of communication?

A. Postal services

B. Print media

_C. Telegrams

D.Use of cellphones =+~ =

The following are sources of government revenue
except? ST :

A. Income tax

B. Harambee collections

C. Loans and foreign Aids

D. Export duty
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61.

62.

63.

64._

=2
th

66.

67.

- 68.

69.

70.

Wh:ch commandment was broken by cain when |
& T

he killed his brother?

- A. Do not commit murder

B. Remember the sabbath and keep it holy

C. Do not accuse a.nyone falsely R

D. Do not steal

‘When Moses was called by God he was living in?
AL Egypt B. Median

C. Canaan D. Moab

- Which among the following was not an occasion
to mark a new life in African Traditional |

communities?

A. Initiation . B. Baptism

C. Birth D. Marriage

The prophet who announced that Jesus would be
- born-in Bethlehem was:- P

A Isaiah B. Jeremiah

C. Micah D. Daniel

The disciples were filled with the Holy Spmt in
the town of:-
A. Bethlehem
C. Nazareth

B. Jerusalem
D. Galilee

Christians should take care of street children in |

al: the following ways mgp_g?

A. Giving them clothes

B. Chase them away from the street

C. Take them to school

D. Taking them to childrenshome

V¥ aich one of the following is a way of behaving
responsibly in the society? :

A. Disobeying our teacher

B. Obeying our parents and teacher

C. Saying bad thing about our neighbours

D Lacking respect to our friends and agemates

“The following are fruits of the Holy spirit except?

Addov B. Peace
C.Fajth .. : == D. Self control
The word “church” in christians means:-

A. christians themselves

B. synagogue

C. temple

D. building where people worship

Jesus taught his d1scxples that nches are stored
' Y

- A.House B.Heaven C.Fields D. Banks
The bible is made up of books:-
A 67 B. 83 C. 66 D. 12

W hat sign did the rising of Lazarus give?

4. God lives some people more than others
B. Death is a simple thing

C. We shall live forever

D Jesus had power over life and death

- Tire Holy Spirit within a christians helps him 'o"

A Tell lies

. 3. Escape punishment
€. Guide him to do right
.~ . D.Guide him to misbehave

The first believers were called christians at:-
A. Jerusalem B. Bethiehem
C. ludea D. Antioch

- During the call of Abraham he was promised:-
- A.son

B. to be blessed

C.anewhome- " D. qf wife

7.

78.

79,

80.

81.

82.

83.
84.

8s.

86.

87.
88.

89.

90.

Emmanuel means

A. God with us B. Bright star

C. Coming soon D. Son of God

When does new life starts?

A. When one dies

B. When one has faith in Jesus christ

C. When one eats the sacrament

D. When one is born

Which of the following is false a.fter resurrection

of Jesus? v o

A. Still had wounds on his body
B. Went straight to heaven

-C. Appeared to aniumber of people

D. Could enter a room with doors and windows
—closed

‘ Man was created in God’s i image so that he can:-
A. talk like God B. reason
C. die D. disobey God

According to the story of creafion Eve was

created to:- !

A. eat the fruit B. be a messenger

C.work in the garden D. be Adams helper

We give our lives to God when we

A. serve Him B. play always

C. work always D. call Him

Whyshould young people deyelop life skills?

A. To help them to grow

B. Because adult have developed them

C. Because their teacher will be happy

D. Because they will help them cope with daily
problems (

In the story of the lost son Jesus wanted to teach

about:-

A.riches B. poverty

C. forgiveness D. sharing

The first people to know that Jesus had been bom

in Bethlehem were:- 5

A. The Gentiles B. The wisemen
C. The Shepherds D. The Samaritans
Life without end is?

A. Confessing that you are saved

B. Moral life

C. Eternal life

D. Living on earth forever
Anybody who lives an idle life at the end of the

day should?

A. Eat other people’s food

B. Steal

C. Sleep

D. Not eat at all

Who built the ark?

A. Abraham B. Jesus

C. Mary_ D. Noah

Who sealed God’s covenant with man?
A. Jesus B.Adam
C.John D. James

Whe among the following is a person with special
needs?

A. The sick B. Therich

C. The healthy D. The priest

is a prayer that Jesus taught HlS
disciples.
A. apostle’s creed
C. our Lord’s praver

B. magnificat
D. Hossana Hossana
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N TOP RANK SERIES
A e . . STANDARD SIX

“MATHEMATICS YEAR 01

READ THESE INSTRUCTIONS CAREFULLY

1. Use an ordinary pencil onl

Tlme 2z Hou rs

2.‘ Make sure that vou have written on the answer sheet:-
1. YOUR NAME II. NAME OF YOUR SCHOOL

1. Write sixty nine thousand three hundred and | 7. Multiply 2/, x 1'/, =
two in symbols? ' :

A. 96302 | EEEE A Y, T B3,
B.69301 : '
C. 69000302 R C. 3¥, D:1Y,
D. 69302 . ¥
2. What is the place value of dlglt 6 in the number 8. Work out Y/ 12 =
' 1526542 e | | |
A. Hundreds - " A.3 B.12Y,
B. Six hundreds. . - 3 t ' : \
C.Thousands - = o . ; ‘»D. Y ‘
D. Six thousands : ~ {
3. Find the highest common factors of 24 and32. | 9.  Subtract/, from?¥, .
| A.6 : '~ ‘ |
B.12 . : ' Al B, .,
C.8 - 4 .
' D. 64 - | - G, D.%,,
4.  Workow3'/,+'fy=___ o ‘
A.1%,, A B. 4%, 10.
c.34, - ‘ D.3Y,
5.  Find the product of 3142 and 25.
A.3167
B.3117
C. 78350
.~ D. 79360 | :
6.  Work our. ' L A. 550 B. 70°
47638 C. 110° D. 125°
Y 39642 11. How many 500g packets of tea can be packed
~ 87289 from 15"/ kg? | :
» ‘ A. 61
| F—— B. 30
A. 87580 B. 191000 C.3Y,, A _
C. 174869 D. 184859 D.31 e R
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14,

Find the area of the shaded part in the ﬁgure

foem

B. 100cm-
D. 175¢m?

A. 250cm®
C. 150cm3
Find the value of xif 6x-4-5x=9
A
B.36
€13

D. 14
\orkout 13 x3. 56"_

A 4.828

3 4638

[
th

16.

1.7

18.

C.48.28
D.46.28

Which of these numbers is divisible by both 4
aid 67 -

AL 2472

B. 2473

€. 2958 «
D.916

How many minutes are there in 420 seconds?
A7 | '

B. 70

C.6

D. 42 _

Find the missing number.

3/5 =2/
A 1S
B.9
C. 20

D27
Work out:

3(2a+b +4c¢)
A.5a+3b+ 12¢ -
B.6a+3b+12c

Ce3z+b+7¢
D.6a+b+ 12c

45

19

20.

21,

22.

23.

24.

F}nd the missing number in the sequence below:-

©9,16,25,36, .y

A. 48
B.42
C.64
D.49
Round off 230489 10 the > nearest thousand.
A. 230400

B. 250000

C. 200000

D. 240000 _

Find the area of the square below.

-~

by, o

£ 9
=
4‘{5' e
A Y m B. 3%/ m’
C. ¥/ m? D. ¥/ m’

Calculate the area of the shaded part.-

30cm

6 0em

ocmn
A.960cm*

C. 1680cm®

B. 240¢m?
D. 720cm?

. What is the reciprocal of 12?2

AV,

- B,

€ - )
During a tree planting day a school bought 350
trees at a cost of Shs. 35 per tree. How much
money was spent? '
A.Sh.385

B. Sh.35035

C. Sh.12250

D. Sh. 315

TRS-NM/STN. A MATHEMATICS/ 2015




25.  Which of these are parallel lines?

26.

27,

28.

29,

30.

31,

Which of the following numbers is divisible by 8?
A.37596

B. 59386

C. 689432

D.11183 |

A class has 16 girls and 27boys. During a maths

lesson '/, of the girls and !/, of the boys went to

fetch water. How many pupils went t¢ fetch
water? : A
A.24

 B.23

C..36"

D.7 . .

A square room has an area of 784m?. What is its
perimeter?

A.1568cm

B. 56cm

C.112em

D. 196cm

Add: 61.234 + 112.3 + 13.7215 = .
A.187.2555

B. 74.9555

C. 86.1855

D. 73.534

Work out. (2Y,)?

A.2Y, ‘

B.5Y,
G5
1.7
Work out:
A. 1.5
B.0.15 |
C. 0.015
D15

2.25

32.

Find the volume of the figure below. |

33.

34.

36.

3%

38.

A.240cm?

B. 40cm?
C.240cm? D. 48¢cm’
Whatis 11'/, - 3'/,2 |
A.5Y,, B. 8!,
€. 84, D. 14Y,
Work out:- .

9| 86kg 40g

A.9%g 69g
B. 9kg 560g
C.9%g 540kg

D.8kg 540¢g _ )
What is the difference between the squares of 6 -
and 87 T

A.36
B. 64
.
D; 28 ..

Simplify:

2%/ m+ 6k-1"m-3k.

A. 4m + 6k

B. 1'/,m + 9k

C.1/,m+3k

D.4m + 3k

Add: 123068 + 1068 + 92 =

to I

A. 12428

B. 124228

C. 12422

D. 124028 : .

A school has 1200 pupils %/ of them are boys.
How many girls are there?

A. 720

B. 480

C. 1000

D. 860
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39.

40.

41.

42.

43.

44.

kg - g,
37 : 360 -

-

A.261kg 520g

B. 25%g 520g

C. 262kg 20g

D.25%g ~ 2520g ,

A town has 2300146 people. If the number of
children is 1231456 and that of women is

- 682493. How many men are there?

A. 386197

B. 386187

C. 368197

D. 368181

Remove the brackets and simplify.
3x+y)¥23x-y) |
A.9%x +y

B. 8x +2y .
C.9x + 5y

_D. 8x

What number is eight thousand more than five

" million.two hundred in symbols? .

A. 5008200
B. 5010000
C. 5007800
D. 520800 3 B
Work out. '
53| 35689

A.6731em 20

B. 681 rem 40
C. 663 rem 20
D. 673 rem 2
Multply.

4hr 25 min 10sec

X 7

-

A. 6hrs 56min 10sec -
B. 4hr 26sec 10sec
C.30hr 56min 10sec
D. 2%hr 56min 10sec

yalzy

14s. A figure:with 2 opposite sides equal and parallel

" and each of the four angles is 90° is
A. parallelogram |
' B.rectangle.
C. square

D. triangle

{46. Howmany tins each holding 1"/ kg of fat can be

 filled from a jar containing 30kg of fat?
A.26 e, B. 28%,
. C.3m, D. 24
47. How many cubes are used to make this stack?

C. 125 D. 144 |
48. Which of the following sets of numbers consist of
prime numbers only? - o
A.7,9,11 B.5,7.15
C:13,11,17 D. 913,15
49. Arrange the following fractions from the largest
to the lowest. %/, ,, %/, %/, '

6 ‘4 "3 8

A M MY B. %, %, %, %,
C. ¥, D L

50.

What is the next shape in the pattern below?

Z N
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T.P RANK SERIES
 DARASA LA SITA

MWAKA 2015

Muda: smnum'_,-

1. Umepawa kx_utahu hx‘kx cha maswah na ktmtasx ya knpbm. Kijitabu hiki kina Maswah 50
2. Hakikisha umeandika:-

(m) JINA LA SHULE YAKO

' (i) NAMBARI YAKO

(i)JINA LAKO =

Hapo__1 mkalepahxshlmwanamkemmqamee 2 _bwanaye 3 dumanakumwachlamahmengl

Kila mtu katika kijiji chao, 4' hh)dﬂcanakarna(}akmgoa}nnwogopa Alxkuwatagm sanahm kwarnba _5 wa
kijijijimmwalunwoneamvu.fmnamhm WQdeMMwaki}nfad}n 6 mmgl 7 chakula 8 maghala-
: 9 njeyanyumba 10 1Ii1md1uh1nshawalikuwanamahmmgl
3 1. A. ssmahan | Bshambam Cw}mﬁx D. samani

'| 2. A ambae B. ambaye _ ~ C.mwenye D. éﬁﬁég ;
| 3. Aalipiga B.alimwaga. Cahaka ¥ Duglinis
| a. Aambayo B amban C.ambacho D. ainbao -
- ' .A.Mye U B, wenye_u Cwenyewe o D. wenyw
= 6. 'A.mavm;‘o" W 'B.masao - Cmamch D maﬁ;po
! 7. A vya Bya’ C.za D.wa "
: 8 Akwa 'B. kwexlxye‘:%: . C.penye D mwényé. - -

9. Alao B mwao . ¥ C. yao D. zao: -

10. A.mwao B.lao . C.zao D. yao

Nyumba_ll_klsasahupendemsana.Nyumba_Lz__huwaumejengwa 13 mawe Upande wa__14 14
hutiwa dhahabu na kupakwa__ 15 zakupendeza |

11. A.cha ; B.za- C.la -D.wa -

12;" Amengiﬁe " Bikwingine C. zingine * D.nyingine
13 Acha R e D, kwa
- B 14-..A.vr.1éhc ' Bmchl C.njé I bD.inje B
. 15. A kala B. rangi 4 C. marangi ‘ -,D. virangi
' TRS-002 / DAR. LA SITA / KISW / 2015 :



- : jibu kiwlr ku!,g "i.\l;'g.ar':'a{“ 24 Ip:"rl'maén'aya:" :
nagzaa’gzzzzake- ... _ S B b e Kulamwande. s L HlaEmaR
: ."‘16 Tangumvua___ funashughuli hapan Aplgighucy . ©. %o "Brloipainghidal] -
Cpele | . Clukosayjote .+ DJajvumilia-— -
A adil e B. imeanza/kwa | 25 Tegeakiwndayiti | A»
© C.uanze/za. . D.isnzelya " '-‘V~Huknag*‘onaknh—ﬁg"o.
17 Kmyumechabavyaam ) N Sp s : ‘
: A.ajuza S5 By 50Ty | Bmavyaa B C tororo Dmdomo G
C.shangezi Dishiomeli 26. " Jina kutokana na kitenZA LIMA i~~~
18. Kamilihamethalibi: ikt e A ‘B.kilimo
- Milanawe hafi nawe ila yo. G limishva. - D.limalima
Amzzive - B.mzaliwanawe AT Konhis,
 C.mwendanawe _ '  D.mpendawe Nimesoma habari hiyo yote i
19, Wduduvyakonokonohuambulqmmm'ad}nya AroSomieCan e Yok
Ameraiens B sokota B. Sitasoma habari hiyo yote
C.kichocho B, malale:. £ Sijasomahabaxi hiyo yote
20. Kaxmhshsxanakahyasalm D. Nitasoma habari hiyo yote
Kulala 28. Kilasikusisihupitianjia_ '
A.lalata '~ B. tuli A. papa, hapa B. hii, hizi :
~ C.rojorejo D.fofofo Sttt - ", D. hi, i
~ 21. Kipi __'chamlakakmmmv 29. Knamgg_hutokananamlmkanmvﬂe
Aclfa _ Bmwongo _ mkwamsomap. : T oA i
Ckame . ' D.korja . Amsomi B.somo -
22. Kamilisha -~ =\ '  C.msomiaji D. soma _
Jana, leo, kesho, kesho kutwa 30, Kukuali = mchangana Fvadudis
Ajuzi B. mtondogoo A. chakura kula : e g
c mtondo D. sasa B.kui‘a,kula .
23. '/, nisawana Gitakiiane
A tusui B. humusi
C. thumni D. sudusi e

Soma taarifa ifuatayo Kisha ujibu maswali 31 - 40:- »
Amalkowa hakika tunaishi katika kipindi kizuri cha Historia. Tunachanjwa tukiwa wachanga dhidiyamagonjwa

hatari. Kadhalika, katika enzi hii magonjwa yaliyokosa tiba kwa rmakammgl iliyopita kwa mfano ndui, kifua kik‘uu
yamedhibitiwa kwa dawa za kisasa. Yamklm tiba itapatikana siku moja kwa magonjwa sugu yaliyosalia, Lak1m

ingawa bmadamu amejawa na matumaini siku hizi matumaini hayo yammnzakuyeyuka pole pole kwa sababu ya mauagl
ya wanaume, wanawake na hata watoto wadogo barabarani. Maelfu kwa maelfu ya watu kote duniani hufa klla mwaka :
au kulemazwa kutokana na ajali za barabaram

Slq;abukuwanaq;ahnym_glsxkuhmkwasababumagaﬁyamgongezgka.hﬁjinﬁngisikuhizihaikaﬁkik@aéabﬂbu-
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wmgxwamagan Kﬂamapombeannjunmmagmmyahng&dlwaBmastenmamejaamagmmmmdx

. lmfyekwaxhtutengenezebarabarazaldlzakupltmmagan Ongemkolamaganhmesabablshamadharammglmaﬂlahm,"a‘
uvun]apwashenazabmabammnaagahnnazosababxshwanaumd&shqnmbayawamagm
Twaﬁahxd!nbmhahhuhvahﬂmzashmazaumdeshajlmagmxhﬁﬁhanyaudemvayapaswahmanngmnuwdl :
. .yasasaMaderevawapaswakufanylwamnhamldlabaadayaunakam mnmehi\\Umnwakuendeshagmlolote
.‘wapaswakupandxshwanakuwarmakaZI Maganyoteyapaswakufnnylwaukagtmkabambekﬂamwaka |

Ulevx wa aina yoyote umpewe nafa51 na kuwe lqwango maalum cha klasx kauka barabara zote Hongerakwa

serikali kuh1mlza uwekaji wa vifaa vya kupunguzia kasi. Hata hayo mengine mhyoyataja bﬂa shaka yatawezekana.

31 Ni upi kati yamagonjwa haya uhkosa tiba hapo kale

naulitajwa?

32.

-3

35.

C. Waba
D. Ndui

Kwammumshlkankalqpmdlhnm?

A Kum chanjozakila ugonjwa

 dawanachmjo
-'D}h\cmmagonjwayoyote

»B.Ml miti
C. ajali barabarani
D.magarimengi
Siku hizi magari _
A simengi

B. ﬁmeongezcka
C.yameisha

D. yamezeeka

Baadhi yamagonjwa suguni ule wa:-

A. waba

B. ukimwi

C. homa ya matumbo
D. kifua kikuu

B. Vifo havasababxshmtenanaugonjwawm 3 |

anmmhayalapmdxhﬂqyamehmﬂan&-
A.ugomwawauknnm :

3 Sababumaalmnyaongezckolaa_yahm- :
Atsjimiti

. Bochimbonge |
Donsmkolamam ;

MMajahbazabamm? e (.

) "smnmapongmmmhumham gani?’

B, Ujenzxwabarabarampya s
C. Uwekajiwavifaavyﬁldzaﬁakasi
D. Kupiga marufuku ukataji miti
40. Nlmahgamyaasm yamyoadhmwamongczekola
- magari?’ ‘
A Misim

‘ B.Watu. ; “VV , :

C. Wanyama pori
D. Dawa za kienyeji

~TRS-003 / DAR. LA STTA/ KISW 72015
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kaz.l yanytmba. Wafanylkazxwakehawa\mwanaﬁn'ahananmnbo hayakwam wahkuwawavxvu.

- 43. Kwanini walimchukiajogoo? = |48, Wafanylkathawawahkuwa___w_?___

““* 44. Ni kina nani ambao hawakupenda jogoo? -

45. Wafanyikazi walipotezaje wakati wao‘7 “

Wakﬁmwmglwawafanylkmlnowahmbumﬁaw&uzmgmamnakmywaciﬂ Waﬁnyx kamwakadbmn
kukaakwajogoohﬂun&kokumetashidahm zote Kwahwyo sﬂcumo;a, wakaumamahuyumz;eeahpokuwana

wamefanyakosa kubwa hawakUJah

Mama huyu bilajogoo wake kumwambxa wakati, ahkosw saa:: Ahwalta wafanyakam wake kamkatx ya usﬂcu na

errwamshi asubuhi na mapema? |46 Mamahuyubaadayajogoowakclmfaahwaamsha-
R gt B.kuchelewa | o kg
G- Yepernvenyow s o 5 oo | Couslkussasita ol s O
D. Jogoo wake £  mer s : D.asubuhi = gl e g :
42. Mwanamkehuyumzeeahkuwaje‘? e 47.:,.-.Wahmfan)ua)ogoomm‘7 R T g
< A, Hangaamblwa v oy ._;_A,Walmpﬂca o e %
B Ahpendwanawaﬁanyxkaz:wake T o A BWalmxﬁ:lmzahukonyumbam ff”. |
C.Alikuwamviva " C.Walianzakumfurahia , = = .. -~
D. Ahpendakufanyamamboyake kwasaa e D. Wahmuuanakumnkakwenyeshm o

i T I

A Kwamakel'ele yake g o  SA walifih
B.Buretu o ¥ 5 B - B - S LN ”
C.Kwakuwa mnene i C. waéhoyo s reommiats O
:D;Kwakuwaaﬁmsaidiamamahuyukuwaamsha- - B
mapema ' ' 49. Jogoo huyu alizikwa wapi?
A Ziwani
_B.J‘xkoni
*..C.Duniani
D. Kwa shimo ardhini
50. Kichwekifaachoufahamuhwni___
Akujuawakati ,
B. wafanylkazx , Rk ity
C. mama mzee na Jogoo wake

A. Watoto ,
- C.Yeye
' D. Wafanyikazi

A. Kumuuajogoo
B.Kula
C. Kunywachal
D. Kuzungmnzanalqmywawm e D. jogoo
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(6] TOPRANKSERIES

%) o0z - STANDARD SIX
ecTENGE YEAR 2015

READ THESE INSTﬁUC!!QES CAREFULLX ' '
’ ‘ Time : 1hr 40 Minutes

1. Use an ordinary pencil onl
2. Make sure that you have written on the answer sheet:- ; ‘
1. YOUR NAME II. NAME OF YOUR SCHOOL

1. Which small animal is in the same group witha | 6. ~ Which of the following is not a problem related
tick? & to teeth? .
A. Locust P "A.Badsmell - B. Shiny teeth
B. Spider . C. Dental carries D. Bleeding gums
C. Bee-. g et B : |7 The diagram below represent classification of
D. Butteﬁ}' plants. Which alternative correctly TCpresents
2. Theriseof water in soil is termed as:- | letters X and Y npspectively?
A. drainage . g 4
B.diffusion - : PLANTS
C. osmosis ' :
D. capillarity A
3 Which part of seed does the air get into a " Green plants Non-green plants
germinating seed? , : '
B. Micropyle _ X Maize Y Mushroom
C. Radicle ; , ~ ‘
D. Testa A.Mucorand beans B. Beans and mucor
4. Which of the followmg parts form the male 1 part C. Moulds and mildew D. Sorghum and moss
of a flower? v 8. Three of the following are agents of poilination
A. Filament, ovary, ovules, anther _ except?
B. Stalk, sepals, petals, stigma - - A.Light - B. Animals
C. Anthers, filament, pollen C. Insects D. Wind
- D. Ovary, stigma, ovules, filament 9. The water on the surface is being heated by
5. Std.6 pupils of Wairuri Primary School carried process.
out the following experiment. What were they - '
investigating? | e C—— S ufqr{o.
; Water —Bo===:
Stavd
A. Respiration B. Transpiration A. convection " B.conduction N\
C. Germination D. Photosynthesis C. heat D. radiation ‘

~ . TRS-002/STD. 6 SCIENCE 2015




.
TN v

e

- 10.

11.

12.

Ju paaaes-€ 5N

Which of the followmg consists of foods that are
rich in proteins? . -
A.Eggs, milk, peas

B. Beans, ugali, groundnuts
C. Milk, chicken. carrots

D! Spinach, cabbage, chicken

is the passage through which-sperms

and urine pas§ in male reproductive system.
A.Penis B. Sperm duct

C. Urethsa "D. (Dvar;,

Which one is nota function/of leaves"

A Breathmg '

B. Photosynthesis

C. Absorption of water

~D. Transpiration ~

14.

. -D. protect the flower _

Ovulauon in the human females takes place
L£very:- ’ ¢

A.30 days 'B. 28,jd,ays

C. 14 days ' D. 7 days

The main function of the flower petals is to -
A. give bright light

B. attract insects s,

C. produce pollen grains - ,

el
- -

- Use the diagram below 10 answer yuestions 15-16

S £ 8

X mems

The pan marked Wis:- :
_A.owvu ' B.ovary
“C. uterls D.vulva :

The part marked K is ‘

B. fatlopiin tube

C. sperm duct D. vagina

Three of the following are deficiensy diseases
except:- T '

5 4 Kwashiorkor - B.Marasmus
‘ - C. Beriberi - D. Malaria )
1 8. \\\'luch of the following is not waterborne disease?
A. Bilharzia “B. Cholera:
D. Lung cancer

€. T}'phoid

19:

20.

21.

22,

23.

25.

26.

- Which of these is not used to measure v eather?

A. Raingauge B. Anemometer
C. Rainfall " D. Barometer
Which of the followmg is not a vertebrate?
A. Chameleon B. Rat

C. Snail D.Lizard

Which one of these is a non-flowering plant?
A. Mushroom B. Grass

C. Cactus D.Onior . P
Whidi of the following characteristics of flowers ;
is found in wind-pollinated flowers o::'y 7
A. Brightly coloured petals

B. Nectaries

In the following diagram, the part mdrked J is
the:- ‘ : : ’

A. radicle

B.hilum
C. cotyledon D. plumule
What isthe function of the part marked N in the
diagram above? ‘
A. Store food
B. Grow into roots
C. Grow into shoot
D. Protection
Bile is produced by
A. stomach B. liver
C. pancrease " D. colon

The instrument below is used to measure

Sy

A. direction and speed of wind
B. speed and direction of wind

C. pressure and speed of wind -
D. direction and strength of wmd

e ) TRS-002 L STD 6 SCIENCE /2015
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-

27.

28. - The process by which water vapour changes {nto

29,

-

30.

31.__ Which one of the following does not help an

32.

33.

34.

\M'uch of the following is the funcnon of the
rectum?

A. Complete digeéstion of food

B. Store undigested food

C. Absorb water

D. Absorb digested fooed

droplets of water is called

A. evaporation

B. melting

C. condensation

D. freezing

Which of the following is not a part ofthe male.
reproductlve system?

A. Penis

B. Oviduct

C. Testes

D. Urethra

Which of the following does not pollute sound?
A. Carhoottng

B. Children shouting

C. Low music from radio

D. Blowing whistle hard

animal 10 grow healthy?

A. Proper housing

B. Adding proper fertilizer

CProper feeding

D. Proper medical care

Which of the following is not a safety measure

when handling and using insecticides?

A. Move out of the room being spraved

B. Remove food and water containers in the room
' being sprayed '

C. Get spray into your eyes

D. Do not breathe in the spray ~

The disease that comes. as.a result of lack of

enough blood is

A. Rickets )

B. Anaemia :

C. Marasmus

D. Typhoid

Which of the followi ing is mot a method of

preventing malaria?

A. Draining stagnant water

B. Keeping our houses.clean

C. Introduce fish in ponds

D. Sleeping under niosq_uito net

\

- -

iy

38.

36.

37.°

38.

39.

40.

The BCG vaccine is given 0 babies 1o xmmumze
them against? :

. A.Malaria . | A s N
.B. Polio " %

C. Tuberculosis
D. Typhoid
The type of veins in this dlaﬂram is

Veing -
A. parallel B. capillary
C. network veins D. none -

The change of state from sclid 1 liquid is known
as:-
A. evaporation
B. melting
C. freezing
D. condensation
When the water rises in the tube of a liquid
thermometer we say thax day is
A. cold
B. windy -
C. hot
D. dry
The roots shown below-are called
roots.

A.tap 3 - B.'fibrous

C. aerial . D.prop

The amphibiansuse _____ to breathe when _
- young. o, B ‘/"
-~ A.lungs e

B. gills o

C.skin

D. nose

Y “ TRS-002/STD. 6 SCIENCE /2015
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P S
Which one is nota method by whxch tuberculosm

is spread?

A Cong
B. Sneezing
: .apmmg

Go

‘a.qnam “ ater

t‘j )

study the air thermorneter drawn below. On a
‘m dax w hat is the most likely thing to happen”

0 sthle

A 1igquid water in the straw rises

3. _iquid water in the beaker drops
(. Liquid water in the straw drops
Z?. No change oc< urs : ‘ :

Vhich one of the foliov\ ing is not a source of

Lain?
A, 3 huming candle
B. A fre fly
C. Paper
D A lit matchstick
The sperms are produced in the
A. ovary
.-} Menis
€, urethaa
D.testis
hamaractivicies all cause
- A re-wfforestation
B.ice erosion
C. de-afforestation

D. soil erosion

Cuting trees, overgrazing the pasture and other |

46. A candle was burning inside an enclosed jar. -
When it was burnt for sometime, a gas was used

up. This gas cannot be used in

q(nlv\
Cq“Aln?

* A. bumning B. rusting

- C. germination D. photosynthesis
The diagram below represents a part of flow er
known as '

47.

A stamen B. corolla
C. pistil D. calyx
Three of the following statements about the leaf
ofa piant are true. Which one is not?
A. It absorbs sini ght
B. It makes plant food -
C. It absorbs mineral salts
D. It allows out excess water -
At what stage should a baby be vaccinatéd
against measles and tuberculosis?
Measles  Tuberculosis
A. 6 months 10 weeks
B. 10 months 1 day
C. 1 month 1 day
D. 9 months at birth
Which of these parts of a flower are wrongly
matched with their functions? 5
A. Calyx - - Protects flower buds
B. Style - Protects ovary
C. Stigma - Receives pollen
D. Ovary - Contains ovules

48.

49.

TRS-002 /STD. 6 SCIENCE /2015




(61 TOP RANK SERIES
02 . STANDARD SIX

B EN GLISH YEAR 2018

" 2 Make sure that you have written on the answer sheet:-
1. YOUR NAME 7 - . NAME OF YOUR SCHOOL

Time : Thr 40 minutes

Fill in the bla k spaces with the best answers from the choi
‘ Malnutrition —1__bad nutrition. Bad nutrition can _2__duc to under nutrition or over nutrition. In -
developing countries__4 _ commonest nutrition problemis__ 5 Undcr nutrition means eating _ 6 little food or
not enough hM foods | |
Under nutrition of all types __7__amajor problem in Eastern Africa. The people most affected are children _8
pregnant and: Iactatmg women. Undernutrition is particularly bad 9 _ children because their mental and physwal
growth and development 10 affected. 11 isalsoa maJ or cause of death i in children.
Over nutrition or eating too much 12 certain fgods e.g. fats and sugar causes obesity and a number 13

* degenerative diseases. The diseasesare 14 overfed nations of the Western World and are 15 appeanng ‘

* . among the elite in poorer countries.

C.means.

1. A relatesto B. does not ‘D. shows
2. A.results - B. indicates C.be D. was
3. A major B. rnint)r C.all D. most
4. A.and B.is C. was D. the
5. A. famine B. poor rainfall C. poverty D. undemutrition
6. A.too B.to C.toomuch ‘D.alot
7. A.also B.is C. was - D. has been
8. Aand B. combined with C. with D. who are
9 A. because B. for C.in D.to. |
10. A-will - | : ._ B.can - C. was +-,D. can be
11. A what B. dueto C.it D.was
- v A A.httieof - B.in C.off . D.of
L 13 Ao Bin C.of D. with
o1 14 Aallover B.inside C. around D.inthe
1S. Anow. B. within C. later D. almost

‘TRS-002 / STD. 6 ENGLISH_ /2018




Choose the word wlugll means. t!gc oggo;ue ot th 21 Wnte one word for the fol}omg{pdpers pencils,
underlmed. Pe® R Ny ‘? TR 5 ens) 4 L, i

. This is so couram g of you' - b |

A frank - =

B. encourage

C. misbehai(e‘ 3

D. coward , 4 d i A
17. Thetinis full of honey. 22. Where have they now?

A. turned A. going "

B. empty B. go

C. nothing C. went

D.half D. gone ,
Choose the correct question tag:- 23. Hardly had I slepf a gun was heard.
18. Youdon’thavea pen? ‘ A. while

A. have you B. than

B. won’t you C.as

C. do you D. when

. D.dontyou se the meanin the ynderlined word:-

19. The pupils will be singing, 2 24. You should calculate now much it costs.

A. won’t they A. work out '

B. would they B. work over

C. will they C. write down

D. shan’t they D.workup
20. Hurry, hurry 25. Itishard to tolerate a lazy pupil. o

A. reaches faster A.putin

B. has nao blessings B. putdown

C. moves slowly C.putup

D. has blessings " D. put up with

ge&d the passage below and asnwer question 26—37 ;

Good behaviour, good habits and high moral standards are generally referred to as virtues. Honesty, patience,

kindness, diligence, trust worthiness, selfishness, courtesy, obedience and self control are some®fthe virtues we should -
have. . : :
" Letus start with honesty. An honest personis one who tells the truth and does not cheat o steal, Honesty isa very ,
important virtue which we should practice as we talk; playand spendtlmemthotherpeople, whethaathomem school

S -

or at work.
Kmdness is anotheri 1mportant virtue, whenpeop!e are fnendly and helpful to us we feel happy becax&Se they are

kind to us. Is it not good-therefore to treat ottiers the same way.

Some people do not have the virtue of panence Fhey complains and complam wheh tbey do not get what they

“ TRS-002 / STD 6 ENGLISH / 2015
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wan;,whmtheywmmtandmcxacﬂythesmnewayﬂxywanﬁtThxsnmkutbanang:yandﬂwymakchfevayd&ﬁimﬂt
forﬂmselvesandothas DY S S N TR AP RO BNyt S Rt sl e ot
Anotiuvuyxmpomntvxrmelsselfoontrol Somepeoplewhodonothaveﬂnsvxmwm&mmslyandmnﬂe
. -tootha'pwple Selfcomnedpeoplemnmkenmemhmkoftheoonseqmof&emenm Theywxl]seth:mts
'mddcvelopmspons:’bleandlwa]thyrelauMpwnhﬂnoppémesex 'l'luyatemlikelytoloscxupeetorgenmwmmd

126. Good habits, good behavmur and hlgh moral | 32. Itisimportant to practice telling the truth when ____

standards are referred to as | Aatwok  B.athome
A.maalny : B. goodness C.injail ,. DanyWhere
. C.vices -~ D.virtues - | 33. Itisadvisableforgirlsandboystohave . in-
27. Peopie whoare makes life very difficult | °ﬂ“w@°@mﬂ¢&awy relationship
for themselves and others. |  witheachother. i o
A. impatient B. dishonest A.patience B B. obedience
€. unkind D. patient : C. self control D. courtesy.
34. What:stheopposxtcofthowo:ﬂmpbnsible"

28. We feel good and happy when people are friendly

and helpful to us. This is because they are A.Mean
Akind B.honest * - B.Iresponsibie
: CRnde

C.unkind D. obedient ‘
29. The following are virtues. Which one is not a good ; D. m

38. Peaple who lack patience will atways complam and

virtue? .
| A. Courtesy B, Selfishoess . | ' oomprhen
C. Honest” D. Diligence A. when they are sick

" C. they do not get what they want
; D.ﬂmygetwhéttheywamaz-;timeﬂwywmt <

30. One who is honest is one who
A. treats others fairly
B. do not talk carelessly to others
C. tells the truth and steals .
D.tells the truth and does not cheat or steal
31 Accordmg to the passage, people who have sel:f :
| control
. A axemmkelytolose self-respect
 B.canmetgetpregoant :

36. Virtues hclpsusmthcfollowmgways exeept?
A.Toberesponsible = .
B. Tobehelpful and friendly
€. Tohave good relationship
b To quarrel with others -
{3 wmumemnaemmw

C. donotﬂnnkofﬂxeconsequmcesofthexraaﬁbm A B‘mwle o, g
D. do not relate with people of the opposite sex » .p
7 ’ M PRl : A C.Whﬂm\’ims
~ D.Good behaviour
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Thaemwﬂydzﬁ'«uuhndsofmﬂ&shvmgmmc&mandﬂ:emm Somkmdlhveqnthcmpof

Auofﬂxcspsnaﬂ,mﬁiandopahavewmﬁﬂspnﬂlmghormﬂm&ememwfadea ﬂacmaelles "
‘ havemehmgMarenevashed.Gmmsareememelyfastcreann'es Theycannmasfastasszxtym}lespethom

forahalfamxle,orfortyﬁvemﬁesperhmnforaslongastwentymmutes _ -

That’s fasterthanahors&nmsandshowsmommdumace OnehndofAﬁucangmlle,theImpda,cmleaptm
feet into the mrandperformanmmng!mm_ump offmtyfeet Thisis hkejmnpmgoverfom'caa's lmedupmdtoend'
Gazelles graze in herds for protection from their many predators. Their large, shining eyes constanﬂysmn in their
surroundings for any signs of movement. Gazelles that live in dry areas never need to gather at dangerous places like
watering holes because they never drink water. The moisture in the grass and plants is all they need to survive.

38.

39.

40.

41.

42.

How many miles can gaz;eﬂa mn” :
A.Sixtymilesperhowr B. S|x1ymﬂespermmme

- C.Fortymilesperhour  D. Seventy miles per hour

The different kinds of gazellaarelwmgm?
A.America, Near East - )

B. Far East Asia, Africa

C. Affica, Near East, Asia

D. Europe, Africa, Asia

How many kinds of gazeltes are mentioned in the

passage? 7
ASixty B.Eighty
C. Seventy D. Ninety

The word predator is underlined in the passage. What
does it mean?

B. Animals eaten by gazelles

C. Animals grazing with gazelles

D. Ammalshuntmgthegnzellaforfood
Wlnchoneofd)efollowmgstatemﬂmsﬁlseaooordmg
tothe passage? _

A. Gazc]lesdnnkwater

B. Gazellesgrazemherds

- C. Gazelles are extremely fast’cneatures
_ " D. Gazelles never drink water
43'

Gazelles show more endurance than which ammal‘7
A. Antelope B. Impala
C.Horse D. Deer

44. The Impalathat can leap mp*feet intq the air is from:-

A. America ‘B.Asia .
C.Africa D. Near East : _
45. According to the passage, which animal sheds thclr
homs? » Y
A.Horse B. Gazelle )
C. Deer D.None
46. What do gazelles feed on? ;
| - A.Grains B. Grass
C. Water D. Meat
| 47. According to the passage, whlcharensaredangerous
_ forthe gazelles? ;
A.Roadside - B.Wateringholes... . -
C.Mountaintops . D, Plains

48. Why.do the gazelles graze in herds?
B. Forprotection from predators -
C. Forthem to be seen: 2
DTegatmmefood '

49,
A. Horse B.Impala
C. Deer .. D.Antlope..
50 wmcmsﬂummmbhmhgmhspasqage, g

A.TheImpala Suenes v
Bmwmmm
- C.Thegazellesedters

dve) A

' D. Gazelles around the world ot

"TRS-002 / STD. 6 ENGLISH / 2015
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| JINA LA SHULE YAKO

2%, rg TOP RANK SERIES
(57F) ooz DARASA LA SITA
— INSHA | - MWAKA 2015

MUDA: DAKIKA 40

Umepewa dakika 40 kuandika insha yako. |
Andika insha ya kuvutia juu yaa:-

“AJALI BARABARANI”
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YOURNAME

NAME OF YOUR SCHOOL

¥

COMPOSITION

«, 6 TOPRANK SERIES

o A r———w°

STANDARD SIX

YEAR 2015

TIME: 40 MINUTES
You have been given 40 minutes to write your composition :
_ Write an interesting composition starting with the following words:- ’ o

R N A

e e R L e T L T L L L L L L L AR Sy R R
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/=, 161 TOPRANK SERIES
>z 002 : STANDARD SIX

/ MARKING SCHEME YEAR 2015
; K;'f MATHEMATICS ENGLISH KISWAHILI SCIENCE SOCIAL/CRE
1.D 26.C 1.C 26.D 1.C 26.B 1.B 26.D LA  3L€ wl.A
/ 2.c 21.D 2.C  27.A 2.B 21.C 2.D 271.B 2.D 32.B 62.B
3¢ 28.C 3.p  28.A 3p 2C |3B 28C |20 i'g gii
4D 29.A 4D 29.B a.c 29.D 4C 2B |sp 35D 658
5..C 30.A 5.D 30.D 5.B 30. A 5.B 30.C 6.C_ 36.B 66.B
6. C 31LA 6. A 31.A 6. A 31.D 6. B 31.B 7.B 37.C 67.B
7.6 32C 7.8. B2.D 7.8 32.C =5 Zce [B& 5B S50
f sc »C |sc me |eB BC o |sa 0B BB o
9.3  34.B 9.D 34.B 9.Cc 34.B 9.A 34.C 11.D 4L.D 71.C
0.B 35.D 1.0 35.C 10.c 35.B 10.A 35.C 12.C 42.B 72.D
i T 1p 36C 1.c  36.D 11.B 36.D .c 36.C 13.B 43.B  73.C
2’e SLB 12.D 37.C 12.D 37.A o.c 371.B 14.D 44.B 74D
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COMPOSITION MARKING SCHEME
MARKING CRITERION -
1. The composition will be assessed according to the following guidelines.
- The maximum mark will be 40 and the minimum mark 01
- Does the script show that the candidate can communicate accurately, fluently and imaginatively in
English?
Accuracy (16 Marks)
a) Correct tenses and agreement of verbs (4 marks)  c)Accurate use of vocabulary (4 marks)
b) Following a sequence (4 marks) d) Correct punctuation (4 marks)
Fluency (16 marks
a) Words in the correct order (4 marks) ¢) Sentence connecting and paragraph (4 marks)
b) Correct spelling (4 marks) d) Ideas developed in logical sequence(4 marks)
Imagination (8 marks)
a) Unusual but appropriate use of words and phrases (4 marks)
b) Variety of structure (4 marks)
N.B: Please, teachers are requested to scrutinize this marking scheme before use, it is worth.
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